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vier Briiche, Reihenfolge der Operationen mit

Klammern
Name: Datum: Ergebnis:
3 32 1 2 2 1 1
2 457" G373"373°
1 1 1 1 1 3
573G 73 G-37373
2 1 31 2 2
2E—ys8= SryxZ4 =
23778 3737373
301 3 31 1
14+2—2)yx — = A
( 73 5 3G
3 11 3 2 11
—_F == — =)= - — — — . =
173G 77 G773 3
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vier Briiche, Reihenfolge der Operationen mit

Klammern
Name Datum: Ergebnis:
3 32 1 111 31 2 2 1 1 7
—_— e — — T - = :1 —_— T — —_— T — — — —
2 4(5 4) &0 80 (3 S)X 2 4 ( 60)
1 12 1 1 1 1 1 3 13 4
—_F ==+ =)= — _—_X_—_:—_:—l_
5 3(5 2) 2 (2 3) 3 2 ( 9) ( 9)
2 1 15 3 3 1 2 2 17 2
2(=— =)+8=—=3= -+t )X =t =-=—=1—
RGP =173 G*)*3757 15713
3 1 25 9 3 31 1 3
(14+2—-)x—-=—=1— ——=(z—=2)==
4 4 16 16 5 42 2 5
3 11 3 1 2 1 1 37
—_t - (= — =)= — —_— = —_— = (——
17267270 G237 37 Cx%)
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